V", Vo-Daten
V =(Mo+ Lo)f2
Vo=V /0,95
Vo V., Mo, Lo

I

up=(A = 550)/502
logV o= -0,35u)\-u ]
|Og LO = -0 35[.1)\—U57o]

_ Adaptation: Ay =557

557570

maximum
log(L m)=-0,01
Lm=0,95
Schwelle

L=(Mo+ )2
Lo=L /0,83
Lo, L., Mo,

u,=(A — 550) / 50
logV o= -0,35u)\~u ]
log =-0,35u,-u ]
Adaptation: A, =570

570

I

maximum
log(L m)=-0,07
Lm=0,83
Schwelle

uy=(A — 550) / 502
logV o= -0,35u)\-u ]2
log =-0,35u\-u ]
Adaptation: A, =570
570

maximum
log(L m)=-0,07
Lm=0,83
Schwelle

uy=(A = 550)/502
log©, =-0,35u)\-u ]
log =-0,35u,-u ]
Adaptation: A =570

maximum
log(L m)=-0,30
Lm=0,49
Schwelle
tg=0,10

\V , Vo-Daten uy=(\ — 550) / 5

V =(Mo+ Lo)/2 logM = -0,35l)\—u ]2

Vo=V /0,95 logLo = =0,35[)~Us7q

Vo, V., Mo, Lo Adaptation: A, =557
557570 maximum

1 log(L m)=-0,01
L m=0,95
Schwelle
1;=0.10

- \
1Mo~V )

log
Adaptation: A\, =570

maximum
570 log(Lm)=—0,07

Lm=0,83
Schwelle
15=0,10

_|_)

uy=(A — 550) / 50
logM o= —0,35l)\~Us.]
log =-0,35u\-u ]
Adaptation: A, =570

570 maximum
log(Lm)=—0,07

Lm=0,83
Schwelle
15=0,10

uy=(A — 550) / 502
log©, = -0,35L)\—u ]2
log  =-0,35u\-u ]
Adaptation: A =570

maximum
log(L m)=—0,30
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